
Answers 

Lesson 2 

 

Inches Cm Inches Cm 

0.4 1 40 100 

1 2.5 50 125 

4 10 100 250 

5 12.5   

6 15   

10 25   

15 37.5   

20 50   

 

 

Length Weight Capacity 

Miles 
Feet  

Inches 

Stones 
Pounds 
Ounces  

Gallons 
Pints 
quarts 



Lesson 2 Activity answers 

The perimeter of a regular pentagon is 20 inches. 

What is the length of each side, in cm? 10cm 

20 ÷ 5 = 4 inches (for each side) 

4inches ≈ 10cm 

 

Phillips Idowu jumped 16.5m in the triple jump at the London 

Olympics last year.  

The winner jumped 18.3m. 

How much further did the winner jump in inches? 72inches 

To find the difference: 18.3 – 16.5 = 1.8m or 180cm 

180cm ≈ 72inches 

You could do this by partitioning 180 into  

100 + 50 + 10 + 10 + 10 

Compare this to your table to add the following inches: 

40 + 20 + 4 + 4 + 4 

(or you might have spotted you can ÷ answer in cm by 2.5!) 

 

James is 1.45m tall, and Jodie is 60 inches.  

How much taller is Jodie than James? Give your answer in cm or 

inches 5cm or 2 inches 

 

60 inches ≈ 150 cm 

150 – 145 = 5 (This is the difference in heights) 

5cm ≈ 2 inches 

 

 



 

3 pencils are laid in one long line on the table. 

The first is 16cm, the second 8 inches, and the third 14cm. 

What is the total length of all 3 pencils, in inches? 20inches 

First you need to find the total length of pencils. Either make sure 

all your measurements are in cm or inches to add them together. I 

will choose cm (as then I only need to make one conversion) 

8 inches ≈ 20cm 

16 + 20 + 14 = 50cm 

50cm ≈ 20inches 
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Lesson 3 activity answers 

  

  

 

 

 

 

 

 



Lesson 4 

 

12/52/365 (or 366 in a leap year) 

24/24 X 60 or 1440/ 1440 X 60 or 86,400 

 

Yes – 3 weeks as 7 days in a week of 21÷7 = 3; however 25 ÷ 3 = 3 remainder 

4  

No. 0.75 is the same as ¾  . 1 hour is 60 minutes and ¾ of 60 is 45, so 

0.75 of 1 hour is 45 minutes 
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